“Part I: (Questions 1 -- 20).
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derivative of the same
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(Questions 21 —- 30).

DERIVATIVES I -

Latin root as the other three words.

porridge
equation
altar
benefit
charm-
curfo
emulsion
electoral
ejaculate
cum laude
median
import
rectangle
corset
confine
staﬁce
unicycle
double
citadel

captain

C

C

deport
requite
exhalt
benign
cargo
sinecure
movie
legend
adjust
disallow
re me
pair
dress
corpulent
finger

instant

d
d
d

o

unintelligent d

doubloon
city

capitulate

derive from the root of the given Latin word.

1 report
2 a adeguate
3 a2 alternate
a beau
a car
a curator
"7 & commotion
8 a collage
9 a2 reject
10 a2 1laudable
11 a demigod
lz "a peer
13 &a correct
14 a cornea
15 a infinitive
16 a astray
17 =a unilateral
18 &a ducat
19 a colonize
20 a capital
Part II:
2l gravis
a grave
22 1liber <(adjective)
a liberate
23 maneo
2 menial

b

b gravity

library

t permanent

C

C

C

aggregate

deliver

remnant

d

d

d

Identify the English word which is NOT a

portage
inigquity
enhance
‘bellyache
charge
curve
emotion
cull
object
obtain
mediate
apparel
corner
corpse
finish
establish
uniform
dual
civil

captive

Identify the word which does NOT

agrrieve

illiberal

emanate
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I

24 video

a invincible b visual : ¢ unenvied’ d evidence
25 . ludus
a allude b lurid ¢ 1llusive d delusion
26 {fluo
a fluid b affluent c influx d deflate
27 vOx
a devoted b advocate c invoke d vocative
28 Dbellunm
2 a revel b rebellion c duel d battle
.29 dono
a donate b pardon c endorse d add

30 novus
a novice b recognize c novel d dinnovate

Part III: (Questions 31 -- 45). Identify the word which shares a
common root with the given derilvative.

31 The word egrarian is derived from the same Latin root as
a2 perdition b peregrine c aggregate © d agreement

32 The word aguatic is derived from the same lLatin root as
a2 aguiline b sewer c gquaint d angle

33 The word illuminate is derived from the same Latin root as
a lumen b allusion c illustrate d lunare

34 The word pacify is derived from the same Latin root as
a apart b comparison c pave d appease

35 The word augmentation is derived from the same Latin root as
2 auction b auspices c cogency d exhaust

36 The word nominative is derived from the same Latin root as
a2 innocent b misnomer c notify d connect

37 The word repugnant is derived from the same Latin root as
a punch b expunge ¢ impugn d approve

38 The word scripture is derived from the same latin root as
a description b consecutive c deserve d consider

39 The word content is derived from the same Latin root as
a attend b entertain c contend d contempt

:0 The word acrid is derived from the same lLatin root as
a alacrity b vinegar ¢ adeqguate d credit

41 The word refugee 1s derived from the same Latin root as
a fulminate b aggression ¢ centerfuge d dinflict



42

43

44

45
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The word trivial is derived from the same lLatin root as
a convoy b convict ¢ conversation d advice

The word lucid 1is derived from the same Latin rocot as
a elucidate b illuminate c delinqguint d align

The word pronounce is derived from the same Latin root as
a annunciation b  nuclear C enumerate d nuptial

The word genitive is derived from the same Latin root as L
a suggest b register C regenerate d segregate

Part IV: (Questions 46 -- 50). Choose the Latin word from which +the
- given word 1is derived.

46
47
48

49

paraffin
a finis b paro Cc parvus d fingo

debenture )
a debeo b laboro ¢ doceo d libero

accusative
a casa b caelum c cunctus d causa

volley
a video b wvolo c vOoco d volvo

indigestion
a 1ignis b gero c gravis d indulgeo



